(ION) swoou| bunesadO 318N MOO| =
sasuadx3 bunelsadQ < Y001 >

SWOoU| SS0JS) BAI08BYT M00Z
o|dwex3 =
(JION) @wodu| bunesadp 1oN = =

S|qeleA ® paxid
‘sasuadx3 bunelsadO (SNNIN) =

9WOJU| SSOJL) DAlJ0ajq =

swoou| bunesadQ J1eN




€EC'€E8F = %CL / MO0LS =
000°0SC'1$ = %8/M00L$ =
000°000°L$ = %0l / MOOLS =
oNjeA 1S4 = % dVO /ION =
oNnje/\ ajewll}sq O) pas() =

‘adA | Ajadoud
0 19)Je|\ AQ paulwis)e( =

(dVD) seley uonezijende)




0C'L =1°d M00L$ / ION MOCL$ =
d0d = I%d [enuuy / |ON =
0’| O] uoneja.
ul Jaquinu e Jo SwJa) Ul
paje)s sAemie si YOS 9yl =
‘Alpadoud ay) uo 1gap ay)
990IAI8S 0] 9|gejieAe St |ON 9y =

(4DQ) oney sbeissno) 19eQ




